WSEHEERT DA

E

A~
H
AL W R, 2 B, AUABRIGE

<Time table>

1:00-1:20 JIL—T T, JIL—THAOEHEBN
1:20-1:25 WSEERMIZKAH;EEDEREA

1:30-2:30 7' JL—7TEE). google slide1IZFELH 5B
2:30-2:50 HEK(49DD). 2:55-#+F



Group 1 (B ZTL\B[E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 2(BEZ TL\B[E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 3(FZATL\S[E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 4 (B Z TL\B[E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 5(FZTL\S[E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 6 (BLZ TL\SH[E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 7 (B Z TL\B[E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 8(HZTL\SH[E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 9(FZTL\SH[E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 10(ZLZ TS E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 11 (B A TS E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 12(BZ TS [E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




Group 13(ZMZ TS E

1.8 3R

2. B RUT=UVERRR

3.BATHe5—=7:

4 HAFTEDIR (ARCS) :

5.8 DITAHAREA:

6.5&DEMR:




